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TYPE-I (BASIC)

1. The weight of 7 students of a class is 48,
52, 40, 60, 53, 54 and 49 kg respectively.
Find the average weight of those student.

fdlh d{kk ds 7 Nk=kksa dk otu Øe'k% 48, 52, 40,

60, 53, 54 rFkk 49 fdxzk- gSA mu Nk=kksa dk vkSlr
otu D;k gS\
(a) 50.857 (b) 50

(c) 60 (d) 55

2. A scored 73, 76, 20 and 7 runs in four out
of five innings. What should be his score
in the fifth innings, if he has to make an
average of 55 runs in five innings?

A us ik¡p esa ls pkj ikfj;ksa esa 73] 76] 20 vkSj 7 ju
cuk,A ik¡poha ikjh esa mldk Ldksj D;k gksuk pkfg,
;fn og ik¡p ikfj;ksa esa 55 juksa dk vkSlr j[kuk pkgrk gS\

SSC CPO 15 March 2019 (Morning)

(a) 99 (b) 11

(c) 55 (d) 42

3. The average of 36, 28, 43, 56, 74, 65, 12
and x is 45. What is the value of x?

36, 28, 43, 56, 74, 65, 12 vkSj x dk vkSlr 45

gSA x dk eku D;k gS\
SSC MTS 7 August 2019 (Afternoon)

(a) 48 (b) 42

(c) 44 (d) 46

4. Set A contains seven numbers and the
average of these numbers is 41. Set B
contains five numbers and the average of
these numbers is 44. The overall average
of both the sets is :

lewg A esa lkr la[;k,¡ gSa rFkk bu la[;kvksa dk vkSlr
41 gSA lewg B esa ik¡p la[;k,¡ gSa rFkk bu la[;kvksa
dk vkSlr 44 gSA bu nksuksa lewgksa dk dqy vkSlr gS &

SSC MTS 9 August 2019 (Afternoon)

(a) 42.75 (b) 42.25

(c) 41.75 (d) 42.5

5. The average of a and b is 36. The average
of b and c is 42. What is the difference
between c and a?

a rFkk b dk vkSlr 36 gSA b rFkk c dk vkSlr 42
gSA c rFkk a ds chp fdruk varj gS\

SSC MTS 6 August 2019 (Afternoon)

(a) 18 (b) 12

(c) 16 (d) 14

6. The average weight of A, B and C is 65 kg.
If the average weight of A and B is 63.5 kg
and the average weight of A and C is 67.5
kg. then the weight of A (in kg) is :

A, B vkSj C dk vkSlr otu 65 fdyksxzke gSA ;fn
A vkSj B dk vkSlr otu 63-5 fdyksxzke gS vkSj A
vkSj C dk vkSlr otu 67-5 fdyksxzke gS] rks A (fdyks
esa) dk otu Kkr djsaA

SSC CPO 23/11/2020 (Morning)

(a) 65 (b) 67

(c) 60 (d) 68

7. Average of 12 numbers is 48. If each
number is increased by 11, then what will
be the new average?

12 la[;kvksa dk vkSlr 48 gSA ;fn izR;sd la[;k dks
11 ls c<+k fn;k tk, rks u;k vkSlr fdruk gksxk\

SSC MTS 7 August 2019 (Morning)

(a) 13 (b) 58

(c) 64 (d) 59

8. The average score of 30 students is 65, 36
students is 35 and 34 students is 45. The
average score of all the student is :

30 Nk=kksa dk vkSlr vad 65 gS] 36 Nk=kksa dk vkSlr
vad 35 vkSj 34 Nk=kksa dk vkSlr vad 45 gS] rks lHkh
Nk=kksa dk vkSlr vad gS

SSC MTS 21 August 2019 (Afternoon)

(a) 45.3 (b) 46.4

(c) 45.7 (d) 47.4

9. The average of n number is 36. If each of
75% of the numbers is increased by 6 and
each of the remaining numbers is
decreased by 9, then the new average of
the number is :

n la[;kvksa dk vkSlr 36 gSA ;fn bu la[;kvksa ds
75» esa ls izR;sd dks 6 ls c<+k fn;k tk, vkSj izR;sd
'ks"k la[;k dks 9 ls de dj fn;k tk,] rks bu la[;kvksa
dk u;k vkSlr D;k gksxk\

SSC CHSL 4 July 2019 (Morning)

(a) 37.125 (b) 33.75

(c) 38.25 (d) 36.25

AVERAGE  (vkSlr)
(CLASSROOM SHEET)
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10. The average of some number is 54.6. If

75% of the number are increased by 5.6

each and the rest are decreased by 8.4

each, then what is the average of the

numbers so obtained?

dqN la[;kvksa dk vkSlr 54-6 gSA ;fn bu la[;kvksa ds
75» esa ls izR;sd dks 5-6 ls c<+k fn;k tk, rFkk 'ks"k
esa ls izR;sd dks 8-4 ls de dj fn;k tk,] rks bl
izdkj izkIr gksus okyh la[;kvksa dk vkSlr D;k gksxk\

SSC CGL 5 March 2020 (Afternoon)

(a) 56.7 (b) 55.6

(c) 55.8 (d) 56.3

11. A person bought 15 articles @ ` 70 per

article, 13 articles @ ` 60 per article and

12 articles @ ` 65 per articles. The average

cost (in `) of per article is :

fdlh O;fDr us ` 70 izfr oLrq dh nj ls 15 oLrq,¡]

` 60 izfr oLrq dh nj ls 13 oLrq,¡ vkSj ` 65 izfr
oLrq dh nj ls 12 oLrq,¡ [kjhnhaA izfr oLrq vkSlr
ewY; (` esa) gS %

SSC MTS 21 August 2019 (Morning)

(a) 65.25 (b) 63.25

(c) 65.00 (d) 65.75

12. The average of a, b and c is 11, the average

of c, d and e is 17, average of e and f is 22

and average of e and c is 17. What will be

the average of a, b, c, d, e, f?

a, b vkSj c dk vkSlr 11 gSA c, d vkSj e dk vkSlr
17] e vkSj f dk vkSlr 22 rFkk e vkSj c dk vkSlr
17 gS] rks a, b, c, d, e, f dk vkSlr D;k gksxk\

(a)
2

15
3

(b)
1

18
2

(c)
1

21
3

(d)
1

16
2

TYPE-II

13. The average of 6 numbers is 8. What is the
7th number so that average becomes 10?

6 la[;kvksa dk vkSlr 8 gSA lkroha la[;k D;k gks ftlls
vkSlr 10 gks tk,\
(a) 18 (b) 22

(c) 21 (d) 20

14. The average of 50 numbers is 75. If the
average of first set of 25 numbers is 65,
then what is the average of the second set
of 25 numbers?

50 la[;kvksa dk vkSlr 75 gSA ;fn 25 la[;kvksa ds
igys lewg dk vkSlr 65 gS] rks 25 la[;kvksa ds nwljs
lewg dk vkSlr Kkr djsaA

SSC MTS 14 August 2019 (Afternoon)

(a) 105 (b) 95

(c) 85 (d) 75

15. The average of 21 data is 36 out of which
the first 12 data are having an average of
15. The average of the rest 9 data is :

21 vkadM+ksa dk vkSlr 36 gS ftlesa ls igys 12 vkadM+ksa
dk vkSlr 15 gSA 'ks"k 9 vkadM+ksa dk vkSlr gS %

SSC MTS 14 August 2019 (Evening)

(a) 87 (b) 65

(c) 64 (d) 50

16. The average marks of Madhu in four
subjects is 64 and she got 69 marks in the
fifth subject. What is the new average of
marks obtained by Madhu in 5 subjects?

e/q }kjk pkj fo"k;ksa esa izkIr vkSlr vad 64 gS vkSj
ik¡posa fo"k; esa mlus 69 vad gkfly fd,A e/q }kjk
ik¡p fo"k;ksa esa izkIr vadksa dk u;k vkSlr D;k gS\

SSC MTS 20 August 2019 (Evening)

(a) 66 (b) 67

(c) 65 (d) 64

17. The average temperature of the first three
days of the week is 23ºC and the average
temperature of the next three days is 24ºC
and the average temperature of the whole
week is 23.5ºC. Find the temperature of
the last days of the week?

lIrkg ds igys rhu fnuksa dk vkSlr rkieku 23ºC gS
vkSj vxyss rhu fnuksa dk vkSlr rkieku 24ºC gS vkSj
iwjs lIrkg dk vkSlr rkieku 23.5ºC gSA lIrkg ds
vafre fnu dk rkieku gS %

SSC MTS 21 August 2019 (Morning)

(a) 22.5ºC

(b) 21.5ºC

(c) 24.5ºC

(d) 23.5ºC

18. Average of 40 observation is 32. If the

average of first 15 observation is 16 and

next 16 is 20. Find the average of

remaining observation.

40 izs{k.kksa dk vkSlr 12 (Observation) gSA ;fn
izFke 15 izs{k.kksa dk vkSlr 16 rFkk vxys 16 izs{k.kksa
dk vkSlr 20 gS] rks 'ks"k cps Ikzs{k.kksa dk vkSlr fdruk
gS\
(a) 81 (b) 80

(c) 82 (d) 83
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19. A student has got an average score of 75
marks in 4 subjects. If he score 80 marks
in 5th subjects, then what is the new
average?

fdlh fo|kFkhZ dks 4 fo"k;ksa esa vkSlr 75 vad izkIr
gksrs gSaA ;fn mls 5osa fo"k; esa dqy 80 vad izkIr gksrs
gksa] rks u;k vkSlr D;k gS\
(a) 80 (b) 76

(c) 92 (d) 95

20. The average of 50 numbers is 45. The
average of 50 numbers and 3 new numbers
is 51. The average of the three new number
will be :

50 la[;kvksa dk vkSlr 45 gSA 50 la[;kvksa rFkk 3
u;h la[;kvksa dk vkSlr 51 gSA 3 u;h la[;kvksa dk
vkSlr fdruk gksxk\
(a) 153 (b) 151

(c) 157 (d) 351

21. The average of 8 numbers is 14. The
average of 6 of these numbers is 16. What
is the average of the remaining two
numbers?

8 la[;kvksa dk vkSlr 14 gSA buesa 6 la[;kvksa dk vkSlr
16 gSA 'ks"k 2 la[;kvksa dk vkSlr D;k gksxk\
(a) 12 (b) 6

(c) 8 (d) 10

22. In a primary school, there are 60 boys of
age 12 years each, 40 of age 13 years each,
50 of age 14 years each and 50 of age 15
years each. The average age (in years) of
all the boys of the school is :

,d izkFkfed fo|ky; esa 60 yM+ds izR;sd 12 o"kZ ds]
40 yM+ds izR;sd 13 o"kZ ds] 50 yM+ds izR;sd 14 o"kZ
vkSj 50 yM+ds izR;sd 15 o"kZ ds gSA fo|ky; ds lHkh
yM+dksa dk vkSlr vk;q gS %
(a) 13.50 (b) 13

(c) 13.45 (d) 14

23. The average monthly expenditure of a
family for the first four months is ` 2570,
for the next three months is ` 2490 and
for the last five months ` 3030. If the
family saves ` 5320 during the whole years,
the average monthly income of the family
during the year is :

fdlh ifjokj dk vkSlr ekfld O;;] izFke pkj ekg
ds fy, ` 2570] vxys rhu ekg ds fy, ` 2490
rFkk vafre ik¡p ekg ds fy, ` 3030 gSA ;fn ifjokj
iwjs o"kZ esa ` 5320 cpkrk gS] rks ifjokj dh iwjs o"kZ
dh vkSlr ekfld vk; Kkr djsaA
(a) ` 3000 (b) ` 3185

(c) ` 3200 (d) ` 3580

24. Average expenditure of a person for the
first four month is ` 1800 and average
expenditure for the next 8 month is
` 2000. If the annual saving is ` 5000, find
his average monthly income?

,d O;fDr ds igys pkj eghuksa dk vkSlr [kpZ ` 1800
vkSj vxys 8 eghuksa ds fy, vkSlr [kpZ ` 2000
#i;s gSA ;fn okf"kZd cpr ` 5000 gS rks mudk ekfld
vkSlr vk; Kkr djsaA
(a) ` 2350 (b) ` 2300

(c) ` 2400 (d) ` 2500

25. The average temperature for Monday,
Tuesday and Wednesday was 40ºC. The
average for Tuesday, Wednesday and
Thursday was 41ºC. If the temperature on
Thursday is 42ºC, find the temperature on
Monday?

lkseokj] eaxyokj vkSj cq/okj dk vkSlr rkieku 40ºC

FkkA eaxyokj] cq/okj vkSj c̀gLifrokj dk vkSlr rkieku
41ºC FkkA ;fn c`gLifrokj dk rkieku 42ºC gks] rsk
lkseokj dk rkieku Kkr dhft,A
(a) 40ºC (b) 39ºC

(c) 36ºC (d) 42ºC

TYPE-III (REPLACEMENT/
INCLUSION/EXCLUSION)

REPLACEMENT

26. The average weight of the 8 oarsmen is

increased by 
1

1
2

 kg, when one of the crew

whose weight is 60 kg is replaced by a new
man, then weight of the new man (in kg)
is :

8 tgkt dehZ dk vkSlr otu 
1

1
2

 fdxzk- c<+ tkrk

gS tc ,d tgkt dehZ ftldk otu 60 fdxzk gS] dks
,d u;k O;fDr izfrLFkkfir djrk gS] rks u;s O;fDr
dk otu Kkr djsa\
(a) 70 kg

(b) 68 kg

(c) 71 kg

(d) 72 kg

27. Out of 10 teachers of a school, one teacher
retires and in place of him a new teacher
who is 25 yeas old joins. As a result
average age of the teachers reduces by 3
years. Age of the retired teacher (in yrs.)
is :
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,d Ldwy ds 10 f'k{kdksa esa ls ,d f'k{kd lsokfuo`Ùk
gks tkrk gS vkSj mlds LFkku ij ,d u;k 25 o"khZ;
lsok xzg.k dj ysrk gSA ifj.kkeLo:i f'k{kdksa dh vkSlr
vk;q 3 o"kZ de gks tkrh gSA lsokfuo`Ùk f'k{kd dh
vk;q fdruh (o"kks± esa) gS\
(a) 55 (b) 65

(c) 45 (d) 67

28. There are 50 students in a class. One of
them weighing 50 kg goes away and a new
student joins. By this the average weight

of the class is increased by 
1

2
 kg. The

weight of the new student is :

,d d{kk esa 50 fo|kFkhZ gSaA ,d fo|kFkhZ ftldk otu
50 fdxzk- gS pyk tkrk gS ,oa u;k fo|kFkhZ vkrk gS

ftlls d{kk dk vkSlr otu 
1

2
 fdxzk- c<+ tkrk gSA

u;s fo|kFkhZ dk otu Kkr djsaA
(a) 70 kg (b) 72 kg

(c) 76 kg (d) 75 kg

29. Average age of 8 men is increased by 3
years when two of them whose age are 30
and 34 years are replaced by 2 person.
What is the average age of 2 new person?

8 O;fDr;ksa dk vkSlr vk;q 3 o"kZ c<+ tkrh gS tc 2
O;fDr ftudh vk;q 30 o"kZ rFkk 34 o"kZ gS dks vU; 2
O;fDr;ksa }kjk izfrLFkkfir fd;k tkrk gSA 2 u;s O;fDr;ksa
dh vkSlr vk;q Kkr djsa\
(a) 24 years (b) 32 years

(c) 44 years (d) 48 years

30. The average age of 8 men is increased by
2 years when two of them whose age are
21 and 23 years replaced by two new men.
The average age of the two new men is :

8 O;fDr;ksa dh vkSlr vk;q 2 o"kZ c<+ tkrh gS] ;fn
muesa ls nks O;fDr;ksa ftudh vk;q 21 o"kZ rFkk 23 o"kZ
gS] dks nks u;s O;fDr;ksa ls izfrLFkkfir fd;k tkrk gSA
nks u;s O;fDr;ksa dh vkSlr vk;q Kkr djsaA
(a) 22 years (b) 24 years

(c) 28 years (d) 30 years

31. The average age of 11 players of a cricket
team is increased by 2 months when two
of them aged 18 years and 20 years are
replaced by two new players. The average
age of the new players is :

fdlh fØdsV Vhe ds 11 f[kykfM+;ksa dh vkSlr vk;q 2
ekg c<+ tkrh gS] tc Vhe ds nks f[kykfM+;ksa ftudh
vk;q 18 o"kZ rFkk 20 o"kZ gS] dks nks vU; f[kykfM+;ksa
}kjk izfrLFkkfir fd;k tkrk gSA u;s f[kykfM+;ksa dh vkSlr
vk;q gS

(a) 19 years 1 month

(b) 19 years 6 month

(c) 19 years 11 month

(d) 19 years 5 month

32. The average age of group of 20 men is 30
years. A 50 year old man leaves the group,
while a woman joins the group. The average
age decreases by 1 year. What is the age
of the woman?

,d lewg ds 20 iq#"kksa dh vkSlr vk;q 30 o"kZ gSA 50
o"kZ dk ,d O;fDr lewg NksM+ nsrk gS] tcfd lewg esa
,d efgyk 'kkfey gks tkrh gSA vkSlr vk;q esa 1 o"kZ
de gks tkrh gSA efgyk dh mez fdruh gS\

SSC MTS 7 August 2019 (Afternoon)

(a) 40 years (b) 30 years

(c) 35 years (d) 38 years

33. The average age of 40 students of a class
is 16 years. If 17 years of a student replace
by another student then average age
become 15.875 years. Find the age of new
boy?

,d d{kk esa 40 yM+ds gSa vkSj mudh vkSlr vk;q 16
o"kZ gS rHkh 17 o"kZ dk ,d yM+dk pyk tkrk gS vkSj
mldh txg nwljk yM+dk vk tkrk gS] rks vkSlr vk;q
15-875 o"kZ gks tkrh gSA u, yM+ds dh vk;q Kkr dhft,A
(a) 17 years (b) 12 years

(c) 22 years (d) 5 years

34. Government made a committee of 8
members when two men of 45 years and
50 years are replaced by two women then
the average age of all members of
committee is decreased by 3.5 years. Find
the average age of those two women.

ljdkj us 8 lnL;ksa dh ,d lfefr cuk;h ysfdu ckn
esa 45 o"kZ vkSj 50 o"kZ ds nks iq#"kksa ds LFkku ij nks
fL=k;ksa dks 'kkfey dj fy;k vkSj bl rjg ls lfefr
ds lnL;ksa dh vkSlr vk;q 3-5 o"kZ ?kV xbZA mu nksuksa
fL=k;ksa dh vkSlr vk;q D;k Fkh\
(a) 33.5 years (b) 33 years

(c) 32 years (d) 35 years

INCLUSION

35. The mean weight of 34 students of a school
is 42 kg. If the weight of the teacher is also
included, the mean rises by 400 grams.
Find the weight of the teacher (in kg.).

,d fo|ky; esa 24 Nk=kksa dk vkSlr Hkkj 42 fdxzk gSA
;fn vè;kid dk Hkkj Hkh lfEefyr dj fy;k tk;s rks
vkSlr 400 xzke c<+ tkrk gSA vè;kid dk Hkkj Kkr
djsaA
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(a) 55 kg (b) 57 kg

(c) 66 kg (d) 56 kg

36. The average of 13 numbers is 42. If a 14th

number is included, then the average
becomes 44. What is the 14th number?

13 la[;kvksa dk vkSlr 42 gSA ;fn 14oha la[;k dks
'kkfey dj fy;k tk,] rks ;g vkSlr 44 gks tkrk gSA
14oha la[;k dkSu lh gS\

SSC MTS 2 August 2019 (Evening)

(a) 70 (b) 62

(c) 66 (d) 68

37. 24 students collected money for donation.
The average contribution was ` 50. Later on
their teacher also contributed some
money. Now the contribution is ` 56. The
teacher's contribution is :

24 Nk=kksa us nku nsus ds fy, /u ,df=kr fd;kA vkSlr
;ksxnku 50 #i;s FkkA ckn esa] muds f'k{kd us Hkh dqN
jkf'k dk ;ksxnku fn;kA vc ;ksxnku 56 #i;s gks x;k
gSA f'k{kd dk ;ksxnku fdruk gS\

SSC CGL 6 March 2020 (Afternoon)

(a) ` 56 (b) ` 200

(c) ` 106 (d) ` 194

38. The average of 18 numbers is 37.5. If six
numbers of average x are added to them,
then the average of all the numbers
increases by one. The value of x is :

18 la[;kvksa dk vkSlr 37-5 gSA ;fn vkSlr x okyh
N% la[;kvksa dks muesa tksM+k tk,] rks bu lHkh la[;kvksa
dk vkSlr ,d ls c<+ tkrk gSA x dk eku gS &

SSC CGL Tier-II 13 September 2019

(a) 40 (b) 41.5

(c) 42 (d) 38.5

39. 5 members of a team are weighed
consecutively and their average weight
calculated after each member weighed. If
the average weight increases by 1 kg each
time, how much heavier is the last player
than the first player?

fdlh Vhe ds 5 lnL;ksa dk ekxr Hkkj ekik x;k rFkk
izR;sd lnL; ds Hkkj&ekiu ds ckn vkSlr Hkkj ekik
x;kA ;fn izR;sd dk vkSlr Hkkj 1 fdxzk c<+rk gS rks
vafre lnL;] izFke lnL; dh rqyuk esa fdruk vf/d
Hkkjh gS\
(a) 4 kg. (b) 20 kg.

(c) 8 kg. (d) 5 kg.

40. The average weight of 12 articles is 18 kg.
Addition of another new article reduces the
average weight by 500 g. What is the wight
of the new article?

12 oLrqvksa dk vkSlr otu 18 fdxzk- gSA ,d vU;
u;h oLrq dks 'kkfey djus ls oLrq dk vkSlr otu
500 xzke de gks tkrk gSA u;h oLrq dk otu Kkr
djsaA

SSC MTS 9 August 2019 (Morning)

(a) 11.5 kg (b) 15.0 kg

(c) 11.0 kg (d) 10.1 kg

41. The average age of 20 students of a class
is 16 years. If 2 teachers are also included
then average become 18 years of the all
members. Find the average age of the
teacher?

,d d{kk ds 20 Nk=kksa dh vkSlr vk;q 16 o"kZ gSA ;fn
nks f'k{kdksa dks Hkh 'kkfey dj fy;k tk, rc lHkh
dh vkSlr vk;q 18 o"kZ gks tkrh gSA mu f'k{kdksa dh
vkSlr vk;q D;k gS\
(a) 40 years (b) 39 years

(c) 37 years (d) 38 years

42. The average age of 6 workers of an office
is 37 years. On appointing a new worker
the average age is decreased by 2 years.
Find the average age of new worker?

fdlh nÝrj ds 6 deZpkfj;ksa dh vkSlr vk;q 37 o"kZ
gSA ,d u;k deZpkjh fu;qDr gks tkus ij vkSlr vk;q
2 o"kZ de gks tkrh gSA u;s deZpkjh dh vk;q Kkr
dhft,A
(a) 22 years (b) 20 years

(c) 25 years (d) 23 years

EXCLUSION

43. The average height of 25 boys is 1.4 m.
When 5 boys leave the group, then the
average height increase by 0.15m. What is
the average height of the 5 boys who
leave?

25 yM+dksa dh vkSlr Å”pkbZ 1-4 eh- gSA tc 5 yM+ds
lewg dks NksM+ nsrs gSa rks vkSlr Å”pkbZ 0-15 eh- ls
c<+ tkrh gSA 5 yM+ds ftUgksaus lewgh NksM+k mudh vkSlr
Å”pkbZ D;k gS\
(a) 0.8 m (b) 0.9 m

(c) 0.95 m (d) 1.05 m

44. The average age of 14 girls and their
teacher's is 15 years. If teacher's age is
excluded the average reduces by 1. What
is the teacher's age?

14 Nk=kksa ,oa vè;kid dh vkSlr vk;q 15 o"kZ gSA
;fn vè;kid dh vk;q gVk nh tk;s rks vkSlr 1 o"kZ
de gks tkrk gSA vè;kid dh vk;q Kkr djsa\
(a) 35 years (b) 32 years

(c) 29 years (d) 30 years
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45. The average age of 30 students and the
class teacher is 20 years. If the class
teacher's age is excluded, then average age
reduces by 1 year. What is the age of the
class teacher?

30 fo|kfFkZ;ksa vkSj d{kk vè;kid dh vkSlr vk;q 20
o"kZ gSA ;fn d{kk vè;kid dh vk;q dks gVk ns rks
vkSlr 1 o"kZ ls ?kV tkrk gSA d{kk vè;kid dh vk;q
D;k gS\
(a) 39 years (b) 50 years

(c) 40 years (d) 49 years

46. Average of 5 numbers is 140. If one of
them is excluded then the average of
remaining 4 becomes 130 then find the
excluded number.

ik¡p la[;kvksa dk vkSlr 140 gSA ;fn muesa ls ,d
la[;k gVk nh tk, rks 'ks"k pkj dk vkSlr 130 gks
tkrk gSA rnuqlkj gVkbZ xbZ la[;k dkSu&lh gS\
(a) 135 (b) 134

(c) 180 (d) 150

47. The average of the ages of a group of 65
men in 32 years. If 5 men join the group,
the average of the ages of 70 men is 34
years. Then the average of the ages of
those 5 men joined later (in years) is :

65 iq#"kksa ds lewg dh vk;q dk vkSlr 32 o"kZ gSA ;fn
5 iq#"k lewg esa 'kkfey gksrs gSa rks 70 iq#"kksa dh vkSlr
vk;q 34 o"kZ  gks tkrh gSA fiQj ckn esa 'kkfey gq, mu
5 iq#"kksa dh vk;q dk vkSlr (o"kks± esa fdruk gS\)

SSC CHSL 19/03/2020 (Morning)

(a) 50 (b) 55

(c) 65 (d) 60

48. The average weight of six children is 32.8
kg. If two more children with 26.5 kg and
28.3 kg weight are added to the group,
then what will be the average weight in
kilograms?

Ng cPpksa dk vkSlr otu 32-8 fdxzk- gSA ;fn 26-3
fdxzk- vkSj 28-3 fdxzk- otu okys nks vkSj cPpksa dks
lewg esa tksM+k tkrk gS] rks fdyksxzke esa vkSlr otu
D;k gksxk\

SSC CPO 15 March 2019 (Evening)

(a) 31.45 (b) 30.3

(c) 28.9 (d) 29.2

49. The average age of 25 men is 28 years. 5
new men of an average age of 25 years
joined them. Find the average age of all the
men together.

25 iq#"kksa dh vkSlr vk;q 28 o"kZ gSA 25 o"kZ vkSlr
vk;q ds 5 u, iq#"k muesa 'kkfey gks tkr gSaA lHkh
iq#"kksa dks feykdj mudh vkSlr vk;q Kkr dhft,A

SSC CHSL 12/10/2020 (Morning)

(a) 26.5 years (b) 27.5 years

(c) 28.5 years (d) 29.5 years

50. The average weight of 18 boys in a group

is 35 kg. If four new boys of weight 20 kg,

22 kg, 26 kg and 28 kg are added to the

group, then what is the average weight of

the newly formed group?

,d lewg ds 18 yM+dksa dk vkSlr otu 35 fdyksxzke
gSA ;fn pkj u, yM+ds lewg esa 'kkfey gks tkrs gSa
ftuds otu Øe'k% 20 fdyksxzke] 22 fdyksxzke] 26
fdyksxzke vkSj 28 fdyksxzke gS] rks u, cus lewg dk
vkSlr otu Kkr djsaA

SSC MTS 8 August 2019 (Morning)

(a) 34 years (b) 32 years

(c) 35 years (d) 33 years

51. The average weight of a certain number of

students in a class is 68.5 kg. If 4 new

students having weights 72.2 kg, 70.8 kg,

70.3 kg and 66.7 kg join the class, then the

average weight of all the students increases

by 300 g. The number of students in the

class initially is :

fdlh d{kk esa Nk=kksa dh ,d fuf'pr la[;k dk vkSlr
otu 68-5 fdyksxzke gSA ;fn 4 u, Nk=k d{kk esa vk
tkrs gSa] ftudk otu Øe'k% 72-2 fdxzk-] 70-8 fdxzk-
] 70-3 fdxzk- rFkk 66-7 fdxzk- gS] rks lHkh Nk=kksa dk
vkSlr otu 300 xzke ls c<+ tkrk gSA vkjaHk esa d{kk
esa Nk=kksa dh la[;k fdruh Fkh\

SSC CGL 4 June 2019 (Afternoon)

(a) 21 (b) 16

(c) 11 (d) 26

52. The average weight of a certain number of

students in a group is 72 kg. If 10 students

having an average weight of 78 kg leave

and 4 students having an average weight

of 80 kg join the group, the average weight

of the students in the group decreases by

0.7 kg. The number of students initially in

the group is :

fuf'pr la[;k okys ,d lewg ds Nk=kksa dk vkSlr otu
72 fdyksxzke gSA ;fn 78 fdyksxzke vkSlr otu okys
10 Nk=k pys tkrs gSa vkSj 80 fdyksxzke vkSlr otu
okys 4 Nk=k vk tkrs gSa] rks lewg esa Nk=kksa dk vkSlr
otu 0-7 fdyksxzke ls de gks tkrk gSA vkjaHk esa lewg
esa Nk=kksa dh la[;k Fkh %

SSC CGL Tier-2, 12/09/ 2019

(a) 56 (b) 46

(c) 44 (d) 54
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53. The average weight of a group of 3 people
A, B and C is 70 kg. When D joins this
group, the average becomes 60 kg. One
man E whose weight is 5 kg more than that
of D, replaces A and the average weight of
B, C, D and E now become 59 kg, A's
weight (in kg) is :

3 yksxksa A, B vkSj C ds lewg dk vkSlr otu 70
fdyks gSA tc D bl lewg esa 'kkfey gksrk gS] rks vkSlr
60 fdyks gks tkrk gSA ,d vkneh E ftldk otu D
dh rqyuk esa 5 fdyks vf/d gS] A dh txg ysrk gS
vkSj B, C, D vkSj E dk vkSlr otu vc 59 fdyks
gks tkrk gSA A dk otu (fdyks esa) gS %

SSC CPO 23/11/2020 (Evening)

(a) 50 (b) 40

(c) 39 (d) 59

54. The average age of 40 students of class is
18 years. When 20 new students are
admitted to the same class, then average
age of the students of the class is increased
by 6 months. The average age of newly
admitted student is :

d{kk esa 40 fo|kfFkZ;ksa dh vkSlr vk;q 18 o"kZ gSA ;fn
20 u;s Nk=k d{kk esa lfEefyr gksrs gSa] rks Nk=kksa dh
vkSlr vk;q 6 ekg c<+ tkrh gSA u;s lfEefyr Nk=kksa
dh vkSlr vk;q Kkr djsaA
(a) 19 years

(b) 19 years 6 months

(c) 20 years

(d) 20 years 6 months

55. The average age of four brothers is 14
years. If their father is also included, the
average is increased by 4 years. The age of
the father (in years) is :

pkj Hkkb;ksa dh vkSlr vk;q 14 o"kZ gSA ;fn muds
firk dks Hkh 'kkfey dj fy;k tk,] rks ;g vkSlr 4
o"kZ c<+ tkrk gSA firk dh mez (o"kZ esa) gS &

SSC CHSL 5 July 2019 (Evening)

(a) 36 (b) 34

(c) 40 (d) 38

56. The average age of fifteen persons is 32
years. If two more persons are added then
the average is increased by 3 years. The
new persons have age difference of
7 years. The age (in years) of the younger
among the new person
is :

15 O;fDr;ksa dh vkSlr vk;q 32 o"kZ gSA ;fn nks vfrfjDr
O;fDr;ksa dks 'kkfey dj fy;k tk,] rks ;g vkSlr 3
o"kZ c<+ tkrk gSA u, O;fDr;ksa esa 7 o"kZ dk mez varjky
gSA u, O;fDr;ksa esa NksVs O;fDr dh mez (o"kZ esa) Kkr djsaA

SSC CHSL 8 July 2019 (Morning)

(a) 54 (b) 61

(c) 50 (d) 58

57. The average score for a cricketer for 20
matches is 52 runs. His highest score is
more than the lowest score by 120 runs.
If these two innings are excluded, the
average score of the remaining 18 matches
is 50 runs. The highest score of the player
is :

,d fØdsVj ds 20 eSSpksa dk vkSlr Ldksj 52 ju gSA
mldk mPpre Ldksj mlds lcls de Ldksj ls 120 ju
vf/d gSA vxj bu nksuksa ikfj;ksa dks NksM+ fn;k tk,]
rks 'ks"k 18 eSpksa dk vkSlr Ldksj 50 ju gSA f[kykM+h
dk mPpre Ldksj gS %

SSC CGL 7 March 2020 (Evening)

(a) 140 (b) 130

(c) 125 (d) 120

58. The average marks of 30 boys is 88, and
when the top two scores were excluded, the
average marks reduced to 87.5. if the top
two scores differ by 2, then the highest
marks is :

30 yM+dksa dk vkSlr vad 88 gS rFkk tc nks 'kh"kZ
vad dks gVk fn;k tkrk gS] rks vkSlr vad de gksdj
87-5 gks tkrk gSA ;fn 'kh"kZ nks vadksa esa 2 dk varj gS]
rks 'kh"kZ vad fdruk gS\

SSC CGL 6 March 2020 (Morning)

(a) 94 (b) 96

(c) 90 (d) 92

59. The average marks of a group of 15
students in months is 87. Then, 25 other
students join and the total average marks
becomes 79.5. The average of 24 students
of the other group is 74. The marks
obtained by the 25th student of the other
group is :

15 Nk=kksa ds lewg dk xf.kr esa vkSlr vad 87 gSA
fiQj vU; 25 Nk=k 'kkfey gksrs gSa vkSj dqy vkSlr
vad 79-5 gks tkrk gSA nwljs lewg ds 24 Nk=kksa dk
vkSlr 74 gSA nwljs lewg ds 25osa Nk=k }kjk izkIr vad gS

SSC MTS 5 August 2019 (Evening)

(a) 82 (b) 99

(c) 76 (d) 89

60. The average weight of 60 students in a
class of 56.4 kg. If 12 students having
average weight of 59.5 kg leave the class
and 15 students having average weight 54
kg join the class, then what is the average
weight (in kg) of the students in the class
(correct to one decimal place) ?
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fdlh d{kk esa 60 Nk=kksa dk vkSlr otu 56-4 fdxzk-
gSA ;fn 39-5 fdxzk- vkSlr otu okys 12 Nk=k d{kk
ls pys tkrs gSa vkSj 54 fdxzk- Hkkj vkSlr otu okys
15 Nk=k d{kk esa vk tkrs gSaA d{kk esa Nk=kksa dk vkSlr
otu (fdxzk- esa) Kkr djsaA (,d n'keyo LFkku rd)

SSC MTS 22 August 2019 (Morning)

(a) 56.1 (b) 55.2

(c) 58.0 (d) 54.9

61. The average weight of the students in a
group was 75.4 kg. Later on, four students
having weights, 72.9 kg, 73.8 kg, 79.5 kg
and 87.4 kg joined the group. As a result,
the average weight of all the students in
the group increased by 0.24 kg. What was
the number of students in the group,
initially?

,d lewg ds Nk=kksa dk vkSlr otu 75-4 fdyksxzke
FkkA ckn esa] pkj Nk=k bl lewg esa 'kkfey gks x,
ftuds otu Øe'k% 72-9 fdxzk] 73-8 fdxzk-] 79-5
fdxzk- vkSj 87-4 fdxzk-] FksA ifj.kkeLo:i bl lewg
ds lHkh Nk=kksa dk vkSlr otu 0-24 fdxzk-] ls c<+
x;kA vkjaHk esa bl lewg esa fdrus Nk=k Fks\

SSC CHSL 3 July 2019 (Morning)

(a) 46 (b) 36

(c) 50 (d) 48

TYPE-IV
(WRONGLY ENTERED)

62. While finding the average of 10 given
numbers a student, by mistake, wrote 64
in place of a number 46 and got his average
50. The correct average of the given
numbers is :

,d fo|kFkhZ tc 10 la[;kvksa dk vkSlr Kkr djrk gS]
rks =kqfV ds dkj.k 46 ds LFkku ij 64 fy[k nsrk gS]
rFkk vkSlr 50 izkIr djrk gSA lgh vkSlr Kkr dhft,\
(a) 48.2 (b) 48.3

(c) 48 (d) 49.3

63. The average weight of 38 students is 42 kg.
It was found that the figure of 46 kg was
misread as 26 kg in one of the readings.
What is the correct average? (correct to
one decimal places)

38 Nk=kksa dk vkSlr otu 42 fdyksxzke gSA ;g ik;k
x;k fd 46 fdyksxzke dks Hkwy o'k 26 fdyksxzke i<+
fy;k x;k FkkA lgh vkSlr D;k gS\ (,d n'keyo LFkku
rd)

SSC MTS 14 August 2019 (Evening)

(a) 42.5 kg (b) 45.5 kg

(c) 39 kg (d) 44 kg

64. The average marks of Ravi in five subjects
are 150, but in mathematics 43 was
misread as 23 during the calculation. the
correct average is :

ik¡p fo"k;ksa esa jfo ds vkSlr vad 150 gS] ysfdu
xf.kr esa x.kuk ds nkSjku 43 dks 23 ds :i esa xyr
i<+k x;kA lgh vkSlr gS %

SSC CHSL 15/10/2020 (Morning)

(a) 150 (b) 154

(c) 148 (d) 160

65. The average marks of 40 students was
found to be 68. If the marks of two
students were incorrectly entered as 48
and 64 instead of 84 and 46 respectively,
then what is the correct average?

40 Nk=kksa ds vkSlr vad 68 ik, x,A ;fn nks Nk=kksa ds
vad Hkwyo'k 84 ,oa 46 ds ctk; Øe'k% 48 vkSj 64
ds :i esa 'kkfey fd;s x, gSa] rks lgh vkSlr Kkr
djsaA

SSC CGL 10 June 2019 (Afternoon)

(a) 68.25 (b) 68.15

(c) 68.45 (d) 68.35

66. The average marks of 50 students in a
class was found to be 64. If the marks of
two students were incorrectly entered as
38 and 42 instead of 83 and 24
respectively, then what is the correct
average.

fdlh d{kk esa 50 Nk=kksa ds vkSlr vad 64 ik, x,A
;fn nks Nk=kksa ds vad Hkwyoa'k 83 ,oa 24 ds ctk;
Øe'k% 38 vkSj 42 fy[ks x,  Fks] rks lgh vkSlr Kkr
djsaA

SSC CGL 10 June 2019 (Evening)

(a) 64.54 (b) 62.32

(c) 61.24 (d) 61.86

67. The average age of a number of person in
a group was calculated as 35 years, which
was 2.5 years more than the correct
average as there was an error in recording
the age of two persons as 38.5 years and
40 years instead of 29 years and 22 years
respectively. The number of person in the
group was :

,d lewg esa dqN yksxksa dh vkSlr mez dh x.kuk 35
o"kZ dh x;h] tks okLrfod vkSlr ls 2-5 o"kZ vf/d
Fkh] D;ksafd nks O;fDr;ksa dh mez 29 o"kZ rFkk 22 ds
LFkku ij Hkwyo'k 38-5 o"kZ rFkk 40 o"kZ ntZ dj yh
x;h FkhA bl lewg esa yksxksa dh la[;k fdruh Fkh\

SSC CGL 4 March 2020 (Evening)

(a) 11 (b) 12

(c) 15 (d) 13
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68. Average of 50 numbers was calculated as
20 when three numbers 26, 36 and 64 were
wrongly read as 31, 46 and 59 respectively.
What is the correct average?

50 la[;kvksa dk vkSlr 20 ik;k x;k tc rhu la[;kvksa
26] 36 vkSj 64 dks Øe'k% 31] 46 vkSj 59 i<+
fy;k x;k FkkA lgh vkSlr Kkr djsaA

SSC MTS 6 August 2019 (Evening)

(a) 26.2 (b) 19.8

(c) 20.2 (d) 24.4

69. In a calculation Chandan is found that the
average of 10 numbers is 45 and on
rechecking Shyam noticed that the some
numbers 18, 34, 63 is wrongly taken as 81,
43 and 36. Find the correct average.

panu ,d x.kuk esa ikrk gS fd 10 la[;kvksa dk vkSlr
45 gS vkSj iqu% voyksdu esa ';ke ikrk gS fd dqN
la[;k,¡ 18] 34 vkSj 63 dks xyrh ls 81] 43 vkSj 36
fy;k x;k gSA lgh vkSlr Kkr djsaA
(a) 39.5

(b) 40.5

(c) 45.5

(d) 50.50

70. A student finds the average of ten 2-digit
numbers. While copying numbers by
mistake, he writes one number with its
digits interchanged. As a result his answer
is 2.7 less than the correct answer. The
difference of the digits of the number, in
which he made mistake, is :

,d fo|kFkhZ 10] 2 vadksa dh la[;kvksa dk vkSlr
fudkyrk gSA mlesa ls ,d la[;k xyrh ls cnys gq,
vadksa ds lkFk fy[k nsrk gS ftlls mldk vkSlr 2-7
de gks tkrk gSA cnyh gqbZ la[;k ds vadksa dk varj
Kkr dhft,A
(a) 3 (b) 5

(c) 4 (d) 2

71. Average of 25 natural numbers is 40. One
number is wrongly read as 20 in place of
60 and other number is wrongly read as 60
instead of 40. The quantity of natural
number is wrongly read 25 in place of 20.
Find the true average.

25 izkÑr la[;kvksa dk vkSlr 40 gSA ,d la[;k 60 ds
LFkku ij xyrh ls 20 i<+h xbZ vkSj vU; la[;k 40
dh txg xyrh ls 60 i<+h xbZA izkÑr la[;kvksa dh
ek=kk 20 ds LFkku ij xyrh ls 25 i<+h xbZA okLrfod
vkSlr Kkr djsaA
(a) 40.8

(b) 51

(c) 52

(d) 50

72. Average marks of 25 students is 40.  One

student got 20 marks instead of 60 and

other student got 90 marks in place of 80.

The number of student wrongly read as 25

instead 20. Find the true average.

25 Nk=kksa ds vkSlr vad 40 gSA ,d fo|kFkhZ 60 ds
LFkku ij 20 vad izkIr djrk gS vkSj ,d vU; Nk=k
80 ds LFkku ij 90 vad izkIr djrk gSA Nk=kksa dh
la[;k 20 dh txg xyrh ls 25 i<+h tkrh gSA okLrfod
vkSlr Kkr djsaA
(a) 51.5

(b) 52

(c) 51

(d) 50

73. In an exam, the average marks was found

to be 50. After deducing computational

errors the marks of the 100 candidates had

to be changed from 90 to 60 each and the

average came down to 45 marks. The total

number of candidates who took the exam,

were :

,d ijh{kk esa vadksa dk vkSlr 50 Kkr gqvkA dE;wVs'kuy
=kqfV;ka esa dVkSrh djus ds ckn 100 Nk=kksa ds vad cny
dj 90 ls 60 dj fn;s x;s ftlds dkj.k vadksa dk
vkSlr ?kVdj 45 gks x;k rks ijh{kk esa lfEefyr gksus
okys dqy Nk=kksa dh la[;k Fkh &
(a) 300

(b) 600

(c) 200

(d) 150

74. Several students have taken an exam.

There was an error in the answer key which

affected the marks of 48 students, and

their average marks reduced from 78 to 66.

The average of remaining students

increased by 3.5 marks. This resulted the

reduction of the average of the all students

by 4.5 marks. The number of students that

attended the exam is :

dbZ Nk=kksa us ,d ijh{kk nh gSA mÙkj dqath esa ,d =kqfV
Fkh] ftlus 48 Nk=kksa ds vadksa dks izHkkfor fd;k vkSj
muds vkSlr vad 78 ls ?kVdj 66 gks x;sA 'ks"k Nk=kksa
ds vkSlr esa 3-5 vad dh o`f¼ gqbZA blls lHkh Nk=kksa
ds vkSlr esa 4-5 vad dh deh vk;hA ijh{kk esa 'kkfey
gksus okys Nk=kksa dh la[;k gS %
(a) 96

(b) 84

(c) 93

(d) 100
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TYPE-V (CRICKET)

75. The average run of a player is 32 out of 10
innings. How many runs must he made in
the next inning so as to increase his
average by 6 runs?

,d f[kykM+h dk 10 ikfj;ksa dk vkSlr ju 32 gS] rks
vxyh ikjh esa mls fdruk ju cukuk gksxk rkfd mlds
vkSlr esa 6 ju dh òf¼ gks tk,\
(a) 98 (b) 6

(c) 40 (d) 38

76. A cricket player completed his 10 innings
and his averages of runs is 21.5. How many
runs should be score in next innings so
that the average of runs is increased to
24.

fdlh fØdsV f[kykM+h us 10 ikjh iwjs dj fy, gSa rFkk
mlds juksa dk vkSlr 21-5 gSA vxyh ikjh esa ;g fdruk
ju cuk, rkfd juksa dk vkSlr c<+dj 24 gks tk,\
(a) 49 (b) 50

(c) 46 (d) 48

77. A cricket batsman had a certain average of
runs for his 11 innings. In the 12th
innings, he made a score of 90 runs after
that his average run is decreased by 5. Find
his average of runs after 12th innings.

,d cYysckt dh 11 ikfj;ksa dk ,d fuf'pr vkSlr
ju gSA 12oha ikjh esa] og 90 ju cukrk gS ftlds
dkj.k mldk vkSlr 5 de gks tkrk gSA 12oha ikjh ds
ckn u;k vkSlr ju Kkr djsaA
(a) 155 (b) 150

(c) 145 (d) 140

78. A batsman made certain average of runs in
16 innings. He made 85 runs in his 17th

innings there after his average runs is
increased by 3 runs. Find the average runs
after 17th innings.

,d cYysct us 16 ikfj;ksa esa juksa dh ,d fuf'pr
vkSlr cuk;hA viuh 17oha ikjh esa mlus 85 ju cuk;s
ftlls mlds juksa dh vkSlr esa 3 dh o`f¼ gks x;hA
crk,¡ 17oha ikjh ds ckn mlds juksa dh vkSlr D;k
Fkh\
(a) 37 (b) 34

(c) 36 (d) 38

79. A batsman in his 44th innings makes a
score of 86 and thereby increases his
average by one run. What is his average
after 44 innings?

,d cYysckt vius 44oha ikjh esa 86 ju cuk;k vkSj
bl izdkj mldk vkSlr 1 ju ls c<+ x;kA 44oha ikjh
ds ckn mldk vkSlr ju D;k gS\

(a) 34 (b) 43

(c) 46 (d) 40

80. Average of 64 innings of a player is 62
runs, difference between his maximum and
minimum score is 180 runs. If these two
innings are excluded then the average of
remaining innings is 60 runs. Then his
maximum score is :

,d fØdsV ds f[kykM+h dh 64 ikfj;ksa dk vkSlr 62
ju gSA mldk vf/dre Ldksj mlds U;wure Ldksj ls
180 ju T;knk gSA mu nks ikfj;ksa dks NksM+dj mldh
'ks"k ikfj;ksa dk vkSlr 60 ju vkrk gSA rnuqlkj ml
f[kykM+h dk vf/dre Ldksj fdruk gS\
(a) 180 (b) 209

(c) 212 (d) 214

81. The bowling average of cricketer  is 12.4.
He improves his bowling average by 0.2
points when he takes 5 wickets for 26 runs
in his last match. The number of wickets
taken by him before the last match is :

,d xsanckt dk vkSlr 12-4 gSA og viuh xsanckth
dk vkSlr 0-2 ls lq/kjrk gS] tc og vafre eSp esa
26 ju nsdj 5 fodsV ysrk gSA vafre eSp ls igys
fy;s x;s fodsVksa dh la[;k Kkr djsaA
(a) 125 (b) 150

(c) 175 (d) 200

82. A cricketer whose bowling average is
11.125 runs per wicket. he takes 7 wickets
for 38.5 runs and thereby decrease his
average by 1.125. The number of wickets
taken by him till last matches was:

,d fØd sVj ftldh x s a nc kth dk vk Slr
11-125 ju izfr fodsV gSA 38-5 ju nsdj og 7 fodsV
ysrk gS] ftlls mldk vkSlr ju 1-125 ?kV tkrk gSA
vafre eSp rd mlds }kjk fy;s x;s fodsVksa dh la[;k
crk,¡A
(a) 35 (b) 18

(c) 28 (d) 38

TYPE-VI (AGES)

83. 5 years ago, the average age of A, B, C and

D was 45 years. When X is added then the

average of all five becomes 49 years. What

is the present age of X?

5 o"kZ igys A, B, C, D dh vkSlr vk;q 45 o"kZ FkhA
X dks tksM+us ij ik¡pksa dh orZeku vkSlr vk;q 49 o"kZ
gks tkrh gSA X dh orZeku vk;q D;k gS\
(a) 64 years (b) 48 years

(c) 45 years (d) 40 years
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84. The average age of a husband and a wife
was 27 years when the child was born.
The average age of the husband, wife and
a new born child is 21 years now. The
present age of the child is:

ifr ,oa iRuh dh vkSlr vk;q 27 o"kZ Fkh] tc cPps
dk tUe gqvk FkkA vc ifr] iRuh ,oa cPps dh orZeku
vkSlr vk;q 21 o"kZ gSA cPps dh orZeku vk;q Kkr
djsaA
(a) 4 years (b) 3 years

(c) 2 years (d) 1 years

85. 5 years ago, the average age of A, B, C
and D was 45 years. With the joining of
E, the average age of all the five is 48
years. How old is E?

ik¡p o"kZ iwoZ] A, B, C rFkk D dh vkSlr vk;q 45
o"kZ FkhA vc E lfEefyr gks tkrk gS] rks ik¡pksa dh
vkSlr vk;q 48 o"kZ gks tkrh gSA E dh vk;q Kkr
djsaA
(a) 25 years (b) 40 years

(c) 45 years (d) 64 years

86. The average age of a husband and his
wife, who were married 4 years ago, was
25 years at the time of their marriage.
The average age of the family consisting
of husband, wife and a child is 20 years
today. The age of the child is :

ifr ,oa iRuh dh vkSlr vk;q] ftudk 4 o"kZ iwoZ
fookg gqvk Fkk] fookg ds le; 25 o"kZ FkhA orZeku
esa ifr] iRuh ,oa iq=k dh vkSlr vk;q 20 o"kZ gSA iq=k
dh orZeku vk;q Kkr djsa\
(a) 2 years (b) 1 year

(c) 2.5 years (d) 3 years

87. B was born when A was 4 years 7 months
old and C was born when B was 3 years
4 months old. If C is 5 years 2 months
old, then their average age was :

B dk tUe rc gqvk Fkk tc A dh vk;q 4 o"kZ 7
ekg FkhA C dk tUe rc gqvk tc B dh vk;q 3
o"kZ 4 ekg FkhA ;fn C dh vk;q 5 o"kZ 2 ekg gS]
rks mudk vkSlr vk;q Kkr djsa\
(a) 8 years 9 months

(b) 7 years 3 months

(c) 8 years 7 months

(d) 8 years 11 months

88. The average age of A and B is 20 years.
If A is replaced by C, then average would
be 19 years. the average age of C and A
is 21 years. The ages of A, B and C in
order (in years) are :

A vkSj B dh vkSlr vk;q 20 o"kZ gSA ;fn A dks C ls
izfrLFkkfir fd;k tk,] rks vkSlr 19 o"kZ gks tkrk gS
rFkk C ,oa A dh vkSlr vk;q 21 o"kZ gS rks crk,¡ A, B

rFkk C dh vk;q D;k gksxh\
(a) 18, 22, 20 (b) 18, 20, 22

(c) 22, 18, 20 (d) 22, 20, 18

89. Last year my age was a perfect square
number. Next year it will be a cubic number.
What is my present age?

fiNys lky esjh vk;q ,d iw.kZ oxZ FkhA vxys lky ;g
,d ?ku la[;k gksxhA orZeku esa esjh vk;q D;k gS\
(a) 26 years (b) 24 years

(c) 25 years (d) 27 years

90. The average age of a husband and his wife
was 23 years at the time of their marriage.
After five years they have a one-year old
child. The average age of that family now is :

'kknh ds le; ifr&iRuh dh vkSlr vk;q 23 o"kZ FkhA 5
lky ckn mudk 1 o"kZ dk csVk gSA vc ifjokj dh vkSlr
vk;q D;k gS\
(a) 19 years (b) 23 years

(c) 28.5 years (d) 29 years

91. Four year ago, the average age of a family of
four person was 18 years. During this period,
a baby was born. Today if the average age of
the family is still 18 years, the age of the
baby is :

4 lky igys] ifjokj ds pkj lnL;ksa dh vkSlr vk;q 18
lky FkhA bl nkSjku ,d cPpk iSnk gqvkA ;fn vkt Hkh
ifjokj dh vkSlr vk;q 18 lky gh gS] rks cPps dh vk;q
D;k gS\
(a) 1.2 years (b) 2 years

(c) 2.5 years (d) 3 years

92. The average of three children of a family is
20% of the average age of father and eldest
child. The total age of the Mother and the
youngest child is 39 years. If the age of the
father is 26 years, then what is age of second
child?

,d ifjokj ds rhu cPpksa dh vkSlr vk;q firk ,oa cM+s
cPps dh vkSlr vk;q dk 20» gSA ek¡ rFkk lcls NksVs
cPps dh dqy vk;q 39 o"kZ gSA ;fn firk dh vk;q 26
o"kZ gks] rks nwljs cPps dh dqy vk;q D;k gS\
(a) 15 years (b) 18 years

(c) 20 years (d) Data inadaquate

93. After replacing an old member by a new
members, it was found that the average age
of six members of a family is the same as it
was 2 years ago. The difference between the
ages of the replaced and the new member
is :
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fdlh ifjokj ds iqjkus lnL; dks u;s lnL; ls
izfrLFkkfir djus ls ;g irk pyk fd vkt 6 lnL;ksa
dh vkSlr vk;q mruh gh gS ftruh fd 2 o"kZ igys Fkh
rks iqjkus ,oa u;s lnL;ksa ds mezksa ds chp varj gS %
(a) 12 years (b) 2 years

(c) 8 years (d) 15 years

94. The average age of Ravi, his wife and their
two children is 23 years. His wife is just 4
years younger than Ravi himself and his
wife was 24 years old when his daughter
was born. he was 32 years old when his son
was born. The average age of Ravi and his
daughter is ?

jfo] mldh iRuh vkSj mlds 2 cPpksa dh vkSlr vk;q
23 o"kZ gSA mldh iRuh mlls vk;q esa 4 o"kZ NksVh gSA
tc mldh iq=kh dk tUe gqvk rc mldh iRuh 24 o"kZ
dh Fkh vkSj tc mlds iq=k dk tUe gqvk rc og 32
o"kZ dk FkkA jfo vkSj mldh iq=kh dh vkSlr vk;q Kkr
dhft,A
(a) 25 years

(b) 22.5 years

(c) 26 years

(d) Can't be determined

95. The age of board of directors of a company
having 10 directors was 48 years.
Coincindentally when a director aged 53
resigned from the board of the directors,
another directors died on the same day. So
a new director joined the board of directors
aged 34. Next year in the same month the
average age of all the 9 directors was found
46 years. The age of the late (i.e., dead)
director at the time of his death was ?

fdlh dEiuh ds cksMZ ds 10 funs'kdksa dh vkSlr vk;q
48 o"kZ gSA la;ksx ls 53 lky ds ,d funs'kd us R;kxi=k
ns fn;k rFkk mlh fnu ,d funs'kd dk nsgkar gks x;k
ftlls ,d 34 lky dk u;k funs'kd dEiuh esa 'kkfey
gqvkA vxys o"kZ blh eghus esa lHkh 9 funs'kdksa dh
vkSlr vk;q 46 o"kZ ik;h xbZA rks ml funs'kd dh ml
le; dh vk;q Kkr dhft, ftldk nsgkar gks x;k Fkk\
(a) 56 years (b) 53 years

(c) 57 years (d) 61 years

96. Ten years ago, the ages of the members of
a joint family of eight people added up to
231 years. Three years later, one members
died at the age of 60 years and a child was
born during the same year. After another
three years, one more member died, again
at 60 years and a child was born during the
same year. The current average of this
eight members joint family is nearest to :

10 lky igys] ,d la;qDr ifjokj ds 8 lnLO;ksa dh
vk;q 231 o"kZ rd tksM+h xbZA rhu lky ckn] ,d lnL;
dh 60 lky dh vk;q esa e`R;q gks xbZ vkSj mlh lky
,d cPps dk tUe gqvkA mlds rhu lky ckn ,d
vkSj   lnL; ftldh vk;q 60 lky Fkh dh e`R;q gks
xbZ vkSj mlh lky ,d cPpk iSnk gqvkA 8 lnL;ksa
okyh la;qDr ifjokj dh orZeku vkSlr vk;q fdrus lky
ds vklikl gS\
(a) 21 years (b) 22 years

(c) 23 years (d) 24 years

97. Mr. Hasnu family consists of six people

himself, his wife and their four children.
It was found that the average age of the
family immediately after the birth of the

first, second, third and fourth child was 16,
15, 16 and 15 years respectively. Find the
age of Mr. Hasnu eldest son if the present

agerage age of the entire family is 16
years?

Jheku gluw ds ifjokj esa mls feykdj 6 lnL; gSa]
mudh iRuh vkSj muds pkj cPpsA ;g ik;k tkrk gS
fd igys] nwljs] rhljs vkSj pkSFks cPps ds tUe ds ckn
ifjokj dh vkSlr vk;q Øe'k% 16] 15] 16 vkSj 15
lky FkhA ;fn vHkh iwjs ifjokj dh vkSlr vk;q 16
lky gks] rks Jheku~ gluw ds cM+s csVs dh vk;q Kkr
djsaA
(a) 8 years (b) 12 years

(c) 15 years (d) 16 years

98. I was born 30 years after my father. My

sister was born 25 years after my mother.
The average age of my family is 26.25
years right now. My sister will get married

4 years from now and she will leave the
family. Then the average age of the family

will be 
107

3
 years. Then my father's age

right now is :

esjk tUe esjs firk ds tUe ds 30 o"kZ gqvk FkkA esjh
cgu esjh ek¡ ds tUe ds 25 o"kZ ckn iSnk gqbZ FkhA
orZeku esa esjs ifjokj dh vkSlr mez 26-25 o"kZ gSA
vc ls 4 o"kZ ckn esjh cgu dh 'kknh gks tk,xh vkSj
rc og ifjokj NksM+ nsxh rc esjs ifjokj dh vkSlr

vk;q 
107

3
 o"kZ gks tk,xh rks orZeku esa esjs firk dh

mez gS %
(a) 30 years

(b) 35 years

(c) 40 years

(d) 45 years
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99. The average age of the ages of Sonu, Hari
and Govind is 30 years. If their ages are
in the ratio of 4 : 5 : 6 respectively, then
the difference between the ages of Sonu
and Govind is :

lksuw] gfj vkSj xksfoan dh vk;q dk vkSlr 30 o"kZ gSA
;fn mudh vk;q Øe'k% 4 % 5 % 6 ds vuqikr esa gS]
rks lksuw vkSj xksfoan dh vk;q ds chp dk varj gS %

CHSL 26/10/2020 (Afternoon)

(a) 18 years (b) 21 years

(c) 15 years (d) 12 years

100. Age of A is 6 years more than three times
the age of B. After three years, A's age will
be 8 years more than twice the age of B.
The average of present age of A and B (in
years) is :

A dh mez B dh mez ds frxqus ls 6 o"kZ vf/d gSA
rhu o"kZ ckn] A dh mez B dh mez ds nksxqus ls 8 o"kZ
vf/d gksxhA A vkSj B dh orZeku vkSlr vk;q
(o"kZ esa) gS %

SSC MTS 13/08/2019 (Afternoon)

(a) 12 (b) 11

(c) 14 (d) 13

101. Three years ago, the average age of a
husband, wife and child was 26 years and
that of the wife and the child 5 years ago
was 20 years. The present age of the
husband is :

rhu lky igys] ifr] iRuh rFkk cPps dh vkSlr vk;q
26 o"kZ Fkh rFkk 5 lky igys iRuh vkSj cPps dh
vkSlr vk;q 20 o"kZ FkhA ifr dh orZeku vk;q fdruh gS\

CHSL 12/10/2020 (Evening)

(a) 42 years (b) 37 years

(c) 39 years (d) 45 years

102. Six years ago, the average of the ages of
Ravi, Mohan and Govind was 32 years. If
Shyam joins them now, the average of the
ages of all four of them is 36 years. The
present age of Shyam is :

Ng lky igys jfo] eksgu vkSj xksfoan dh mez dk
vkSlr 32 lky FkkA vxj ';ke muds lkFk vk tk;s]
rks mu pkjksa dh mez dk vkSlr 36 lky gSA ';ke dh
orZeku mez gS %

CHSL 14/10/2020 (Morning)

(a) 35 years (b) 32 years

(c) 40 years (d) 30 years

103. The average ages of Kishore, his wife and
their child 6 years ago was 38 years and
that of his wife and their child 8 years ago
was 32 years, find the present age of
Kishore.

fd'kksj] mldh iRuh vkSj muds cPps dh vkSlr vk;q
6 lky igys 38 lky Fkh vkSj  mldh iRuh vkSj muds
cPps dh vkSlr vk;q 8 lky igys 32 o"kZ FkhA fd'kksj
dh orZeku vk;q Kkr dhft,A

SSC CPO 2019

(a) 50 years

(b) 48 years

(c) 52 years

(d) 55 years

104. 9 years ago, the average age of a family of
five members was 33 years. Now, three new
members join whose ages are in ascending
order with consecutive gaps of 8 years. If
the present average age of the family is the
same as it was 9 years ago, what is the age
(in years) of the youngest new member?

9 o"kZ igys] ik¡p lnL;ksa ds ,d ifjokj dh vkSlr
mez 33 o"kZ FkhA vc rhu u, lnL; 'kkfey gks x, gSa
ftudh mez vkjksgh Øe esa gS ,oa budh mezksa esa 8 o"kZ
dk vuqxkeh varjky gSA ;fn ifjokj dh orZeku vkSlr
mez mruh gh gS ftruh ;g 9 o"kZ igys Fkh] rks u,
NksVs lnL; dh mez (o"kZ esa) Kkr djsaA

CHSL 04/07/2019 (Afternoon)

(a) 15 (b) 17

(c) 10 (d) 9

105. A family has two grandparents, two parents
and four children. Two years ago, the
average age of grand parents was 72 years.
A year ago, the average age of parents was
36 years. Currently, the average age of
children is 12 years. What is the current
average age of the family?

fdlh ifjokj esa nks nknk&nknh] nks ekrk&firk vkSj pkj
cPps gSaA nks lky igys] nknk&nknh dh vkSlr vk;q 72
o"kZ FkhA ,d lky igys] ekrk&firk dh vkSlr vk;q
36 o"kZ FkhA orZeku esa cPpksa dh vkSlr vk;q 12 o"kZ
gSA ifjokj dh orZeku vkSlr vk;q fdruh gS\

SSC MTS 16 August 2019 (Afternoon)

(a) 32 years (b) 33.75 years

(c) 32.75 years (d) 33 years

TYPE-VII (NUMBER)

106. The average of all the prime and composite
numbers upto 100 is :

100 rd dh lHkh vHkkT; vkSj foHkkT; la[;kvksa dk
vkSlr gS %
(a) 51 (b) 50

(c) 50.5 (d) 49.5
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107. Average of 30 continue natural number is
15.5. If next six number are included then
what will be the new average?

30 yxkrkj izkÑr la[;kvksa dk vkSlr 15-5 gSA blesa
vxyh 6 la[;k,¡ feykus ds ckn u;k vkSlr D;k gksxk\
(a) 18.5 (b) 18

(c) 12.5 (d) None of these

108. Average of 25 continue natural number is
K. If last five number are excluded then
what will be the new average?

25 yxkrkj izkÑr la[;kvksa dh vkSlr K gSA vafre 5
la[;k,¡ gVkus ds ckn u;h vkSlr D;k gksxk\
(a) K + 2.5 (b) K – 2.5

(c) K – 5 (d) None of these

109. Average of 20 continue natural number is
K. If first 4 number are excluded then what
will be the new average?

20 yxkrkj izkÑr la[;kvksa dh vkSlr K gSA pkj izFke
la[;k,¡ gVkus ds ckn u;h vkSlr D;k gksxk\
(a) K – 4 (b) K

(c) K + 2 (d) None of these

110. What is the average of the first 8 multiple
of 6 among the natural numbers?

izkÑfrd la[;kvksa esa 6 ds igys 8 xq.ktksa dk vkSlr
D;k gS\

SSC MTS 7 August 2019 (Evening)

(a) 24 (b) 26

(c) 27 (d) 28

111. The average of the square of 1 to 5 is :

1 ls 5 rd dh la[;kvksa ds oxks± dk vkSlr Kkr djsaA
SSC CPO 16 March 2019 (Afternoon)

(a) 11 (b) 5

(c) 8 (d) 9

112. Find the average of first 55 even number.

izFke 55 la[;kvksa dk vkSlr Kkr djsaA
(a) 56 (b) 55

(c) 54 (d) 28

113. Fill in the blanks

fjDr LFkku dh iwfrZ djsaA
The average of the first 101 ––––– members
is equal to 102.

igyh 101 &&&& la[;kvksa dk vkSlr 102 ds cjkcj
gksxkA

CHSL 10 July, 2019 (Afternoon)

(a) natural (b) odd

(c) even (d) perfect square

114. The average of five consecutive even
numbers is M. If the next five even
numbers are also included, the average of
ten numbers will be :

ik¡p yxkrkj le la[;kvksa dk vkSlr M gSA ;fn vxyh
ik¡p le la[;kvksa dks Hkh 'kkfey dj fy;k tk,] rks
nl la[;kvksa dk vkSlr fdruk gksxk\

SSC CGL 3 March 2020 (Evening)

(a) M + 10 (b) 11

(c) M + 5 (d) 10

115. What is the average of the first 15 whole
numbers?

çFke 15 iw.kZ la[;kvksa dk vkSlr Kkr djsaA
SSC MTS 8 August 2019 (Morning)

(a) 8 (b) 7

(c) 9 (d) 10

116. Average of 20 consecutive even number is
an

(i) Next 8 numbers included then what
will be the new average

(ii) last four number excluded then what
will be the new average?

(iii) First six number excluded. Then
what will be the new average?

20 yxkrkj le la[;kvksa dk vkSlr m gSA
(i) vxyh 8 la[;kvksa dks 'kkfey djus ds ckn ubZ

vkSlr D;k gksxh\
(ii) vafre pkj la[;kvksa dks gVkus ls ubZ vkSlr

D;k gksxh\

(i) izFke N% la[;kvksa dks gVk fn;k tk, rks ubZ
vkSlr D;k gksxh\

(a) M – 8, M, M – 6

(b) M + 8, M – 4, M + 6

(c) M, M – 4, M – 6

(d) None of these

117. The average of 11 consecutive ever number

is 
1

20
 time of their sum.

(i) Find the difference between first
and last number.

(ii) Find the difference between 4th

number and 12th number.

20 yxkrkj le la[;kvksa dk vkSlr muds ;ksx dk
1

20
 xquk gSA

(i) çFke vkSj vafre la[;k ds chp dk varj Kkr
djsaA

(ii) pkSFkh la[;k vkSj 12oha la[;k ds chp dk vkarj
Kkr djsaA

(a) 38, 18

(b) 38, 16

(c) 36, 16

(d) 38, 8
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118. What is the average of the first 15 odd
numbers among the natural number?

izkÑfrd la[;kvksa esa igyh 15 fo"ke la[;kvksa dk vkSlr
D;k gS\

SSC MTS 8 August 2019 (Evening)

(a) 18 (b) 15

(c) 16 (d) 17

119. The average of the first 1234 ––––––––
numbers is equal to 1234.

igyh 1234 &&&&&& la[;kvksa dk vkSlr 1234 ds cjkcj
gksrk gSA

SSC CHSL 10 July 2019 (Afternoon)

(a) odd (b) even

(c) prime (d) natural

120. In 20 consecutive even number, average of
last 15 numbers is K. First five number we
excluded, then what will be the new
average?

20 yxkrkj le la[;kvksa esa ls vafre 15 la[;kvksa dh
vkSlr K gSA izFke 5 la[;k,¡ gVk nh tk, rks ubZ  kSlr
D;k gksxh\
(a) K (b) K + 2.5

(c) K – 2.5 (d) None of these

121. Average of 25 consecutive odd number is
1

25
 time of their sum.

(i) Find the difference between smallest
and largest number.

(ii) Find the difference between first
number and 20th number.

(ii) Find the difference between 5th

number and 15th number.

20 yxkrkj le la[;kvksa dk vkSlr muds ;ksx dk
1

25
 xquk gSA

(i) lcls NksVh vkSj lcls cM+h la[;k ds chp dk
varj Kkr djsaA

(ii) çFke la[;k vkSj 20oha la[;k ds chp dk varj
Kkr djsaA

(ii) 5oha la[;k vkSj 15oha la[;k ds chp dk vkarj
Kkr djsaA

(a) 49, 39, 20 (b) 48, 38, 20

(c) 48, 49, 21 (d) None of these

122. The average of all prime numbers 21 to 50
is (round off to one decimal number)

21 ls 50 rd dh lHkh vHkkT; la[;kvksa dk vkSlr
Kkr djsaA (,d n'keyo la[;k rd iw.kk±d djsa)

SSC CPO 16 March 2019 (Morning)

(a) 35.9 (b) 34.8

(c) 33.7 (d) 32.9

123. The difference between the average of first
ten prime numbers and the first ten prime
numbers of two digits is :

igyh nl vHkkT; la[;kvksa ds vkSlr vkSj igyh nl
nks vadksa dh vHkkT; la[;kvksa ds vkSlr esa varj gksxk %

SSC CHSL 10 July 2019 (Evening)

(a) 14.5 (b) 16.5

(c) 12.5 (d) 13.5

124. What is the average of the first seven prime
numbers (correct to two decimal places)?

igyh lkr vHkkT; la[;kvksa dk vkSlr Kkr djsaA (nks
'keyo LFkku rd)

SSC MTS 2 July 2019 (Evening)

(a) 7.14 (b) 8.76

(c) 7.64 (d) 8.29

125. Out of three numbers first is twice the
second and second is twice of the third.
The average of three numbers is 21. The
smallest of the three number is :

rhu la[;kvksa esa izFke la[;k] f}rh; la[;k dh nksxquh
gS rFkk f}rh; la[;k] r`rh; la[;k dh nksxquh gSA rhuksa
la[;kvksa dh vkSlr 21 gks] rks lcls NksVh la[;k gS %
(a) 9 (b) 6

(c) 12 (d) 18

126. Out of the three numbers, second is twice
the first and is also thrice the third. If the
average of the three numbers is 44, the
largest number is :

rhu la[;kvksa esa ls nwljh la[;k] igyh la[;k dh nksxquh
rFkk rhljh dh frxquh gSA ;fn rhuksa la[;kvksa dh vkSlr
44 gS rks cM+h la[;k D;k gS\
(a) 72 (b) 36

(c) 24 (d) 108

127. Out of 5 numbers, the average of first 4
numbers is double of fifth. If the average
of all five numbers is 27, then what is the
fifth numbers?

ik¡p la[;kvksa esa ls igyh pkj la[;kvksa dk vkSlr
ik¡poha la[;k dk nqxquk gSA ;fn ik¡pksa la[;kvksa dk
vkSlr 27 gS rks ik¡poha la[;k D;k gS\
(a) 45 (b) 25

(c) 20 (d) 15

128. The average of three consecutive odd
numbers is 12 more than one third of the
first of these numbers. What is the last
number?

rhu yxkrkj fo"ke la[;kvksa dk vkSlr buesa ls igyh
la[;k ds ,d&frgkbZ ls 12 vf/d gSA vafre la[;k
D;k gS\
(a) 15 (b) 17

(c) 19 (d) Data inadequate
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129. Average of 20 natural number is 36. 1st

number is increased by 1, 2nd number
increased by 2 and 3rd number increased by
3, and so on. find the new average.

20 izkÑr la[;kvksa dh vkSlr 36 gSA izFke la[;k dks
1 ls c<+k fn;k x;k] nwljh la[;k dks 2 ls vkSj rhljs
dks 3 ls vkSj ,sls gh vkxs rks ubZ vkSlr Kkr djsaA
(a) 46

(b) 46.5

(c) 45.5

(d) 47

130. Average of 25 natural numbers is 67. 1st

number is increased by 1, 2nd number
increased by 3 and 3rd number is increased
by 5, and so  on. find the new average.

25 izkÑr la[;kvksa dh vkSlr 67 gSA izFke la[;k dks
1 ls c<+k fn;k x;k] nwljh la[;k dks 3 ls vkSj rhljs
dks 5 ls vkSj ,sls gh vkxs rks ubZ vkSlr Kkr djsaA
(a) 73.76

(b) 93

(c) 92

(d) 74.76

131. The average of 17 numbers is 45. The
average of first 9 of these numbers is 51
and the last 9 of these numbers is 36. What
is the 9th number?

17 la[;kvksa dh vkSlr 45 gSA igys 9 la[;kvksa dk
vkSlr 51 gS vkSj vafre 9 la[;kvksa dh vkSlr 36 gSA
9oha la[;k D;k gS\
(a) 14 (b) 16

(c) 22 (d) 18

132. The average of 13 numbers is 30. The
average of first 7 of these numbers is 32
and the last 7 of these number is 26. Find
the 7th number?

13 la[;kvksa dh vkSlr 30 gSA bu la[;kvksa ds igys 7
dh vkSlr 32 vkSj vafre 7 dh vkSlr 26 gSA 7oha
la[;k D;k gS\
(a) 18

(b) 12

(c) 16

(d) 10

133. The average of a series of 21 numbers is
equal to 43. The average of the first eleven
of them is 33. The average of the last
eleven number is 53. The eleventh number
of the series is :

21 la[;kvksa dh ,d Ük`a[kyk dk vkSlr 43 ds cjkcj
gSA buesa ls igyh X;kjg la[;kvksa dk vkSlr 33 gSA
vafre X;kjg la[;kvksa dk vkSlr 53 gSA bl Ük̀a[kyk dh
11oha l[;k gS%

SSC CHSL 11 July 2019 (Afternoon)

(a) 43

(b) 47

(c) 33

(d) 46

134. Average of 11 numbers is 32. If the average
of first six numbers is 26 and the average
of last six numbers is 36, then what is the
value of the sixth number?

11 la[;kvksa dk vkSlr 32 gSA ;fn igyh N% la[;kvksa
dk vkSlr 26 gS vkSj vafre N% la[;kvksa dk vkSlr
36 gS] rks NBh la[;k dk eku Kkr djsaA

SSC MTS 9 August 2019 (Afternoon)

(a) 20 (b) 26

(c) 32 (d) 30

135. Out of  6 numbers the average of first five
number is 30 and average of last five
numbers is 24. If last numbers is 36, then
what is the first number?

6 la[;kvksa esa ls igyh ik¡p la[;kvksa dk vkSlr 30 gS
vkSj vafre ik¡p la[;kvksa dk vkSlr 24 gSA ;fn vafre
la[;k 36 gS rks igyh la[;k D;k gS\
(a) 70 (b) 66

(c) 60 (d) 56

136. The average of 33 numbers is 74. The
average of the first 17 numbers is 72.8 and
that of the last 17 numbers is 77.2. If the
17th number is excluded, then what will
be the average of the remaining numbers
(correct to one decimal place)?

33 la[;kvksa dk vkSlr 74 gSA igyh 17 la[;kvksa dk
vkSlr 72-8 gS rFkk vafre 17 la[;kvksa dk vkSlr 77-
2 gSA ;fn 17oha la[;k gVk nh tk,] rks 'ks"k la[;kvksa
dk vkSlr D;k gksxk\ (,d n'keyo LFkku rd)

SSC CGL Tier-2, 12 September 2019

(a) 72.9 (b) 73.4

(c) 71.6 (d) 70.8

137. The average of 21 numbers is 44. The
average of first 11 numbers is 48 and that
of last 11 numbers is 42. If 11th number
is excluded, what is the average of the
remaining number?

21 la[;kvksa dk vkSlr 44 gSA igyh 11 la[;kvksa dk
vkSlr 48 rFkk vafre 11 la[;kvksa dk vkSlr 42 gSA
;fn 11oha la[;k dks gVk fn;k tk,] rks 'ks"k la[;kvksa
dk vkSlr D;k gksxk\

SSC MTS 20 August 2019 (Afternoon)

(a) 43

(b) 42

(c) 42.9

(d) 43.5
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138. The average of 12 numbers is 18.5. The
average of the first six numbers is 16.8 and
that of the last seven numbers is 17.4. If
the 6th number is excluded, then what is
the average (correct to one decimal place)
of remaining 11 numbers?

12 la[;kvksa dk vkSlr 18-5 gSA igyh N% la[;kvksa
dk vkSlr 16-8 gS rFkk vafre lkr la[;kvksa dk vkSlr
17-4 gSA ;fn NBh la[;k dks gVk fn;k tk, rks 'ks"k
11 la[;kvksa dk vkSlr (,d n'keyo LFkku rd) D;k
gksxk\

SSC MTS 22 August 2019 (Evening)

(a) 17.9 (b) 18.9

(c) 18.4 (d) 20.1

139. The average of twenty-five numbers is 54.
The average of the first 13 numbers and
that of the last 13 numbers is 52.8 and
62.2 respectively. If the 13th number is
excluded, then what is the average of the
remaining number (correct to one decimal
place)?

25 la[;kvksa dk vkSlr 54 gSA igyh 13 la[;kvksa dk
vkSlr vkSj vafre 13 la[;kvksa dk vkSlr Øe'k% 52-8
vkSj 62-2 gSA ;fn 13oha la[;k dks ckgj j[kk x;k gS]
rks 'ks"k la[;kvksa dk vkSlr (,d n'keyo LFkku rd)
D;k gS\
(a) 51.2 (b) 49.8

(c) 50.2 (d) 50.6

140. Average of 8 results is 25. The average of
1st two is 20 and the average of next 3
result is 26. The 6th result is less than the
7th and 8th by 4 and 6 respectively. What
is the last result?

vkB ifj.kkeksa dk vkSlr 25 gSA mlesa ls igys nks dk
vkSlr 20 rFkk vxys rhu ifj.kkeksa dk vkSlr 26 gSA
NBk ifj.kke lkrosa ls 4 vkSj vkBosa ls 6 de gSA
vkf[kjh ifj.kke D;k gS\
(a) 24 (b) 30

(c) 32 (d) 25

141. Average of 6 natural number is 50. If the
average of first 3 natural number is 40 and
the 4th number is 10 less than the 5th

number and 20 less than 6th number. Then
find the 4th number?

6 izkÑr la[;kvksa dk vkSlr 50 gSA ;fn izFke 3 izkÑr
la[;kvksa dk vkSlr 40 gS vkSj pkSFkh la[;k 5oha la[;k
ls 10 de vkSj NBh la[;k ls 20 de gks rks pkSFkh
la[;k Kkr djsaA
(a) 60 (b) 50

(c) 55 (d) 45

142. The average of twelve numbers is 42. The
average of the last five numbers is 40 and
that of the first four numbers is 44. The
6th number is 6 less than the fifth and 5
less than the 7th number. The average of
the 5th and the 7th number is :

ckjg la[;kvksa dk vkSlr 42 gSA vafre ik¡p la[;kvksa
dk vkSlr 40 rFkk igyh pkj la[;kvksa dk vkSlr 44
gSA NBh la[;k ik¡poha ls 6 de gS rFkk 7oha la[;k ls
5 de gSA 5oha vkSj 7oha la[;k dk vkSlr gS &

SSC CGL 7 June 2019 (Morning)

(a) 44

(b) 44.5

(c) 43

(d) 43.5

143. The average of thirteen numbers is 47. The
average of the first three number is 39 and
that of the next seven number is 49. The
11th number is two times the 12th number
and 12th number is 3 less than the 13th

number. What is the average of 11th and
13th number?

13 la[;kvksa dk vkSlr 47 gSA igyh rhu la[;kvksa dk
vkSlr 39 gS rFkk vxyh lkr la[;kvksa dk vkSlr 49
gSA 11oha la[;k 12oha la[;k ls nksxquh gS rFkk 12oha
la[;k 13oha la[;k ls 3 de gSA 11oha vkSj 13oha la[;kvksa
dk vkSlr Kkr djsaA

SSC CGL Tier-2, 11 September 2019

(a) 54.5

(b) 57

(c) 56

(d) 55.5

144. The average of twelve numbers is 55.5. The
average of the first four numbers is 53.4
and that of the next four numbers is 54.6.
The 10th number is greater than the 9th

number by 3 but lesser than the 11th and
12th number by 2 and 3, respectively. What
is the average of the 10th and the 12th

number?

ckjg la[;kvksa dk vkSlr 55-5 gSA igyh pkj la[;kvksa
dk vkSlr 53-4 gS rFkk vxyh pkj la[;kvksa dk vkSlr
54-6 gSA 10oha la[;k 9oha la[;k ls 3 vf/d gS ysfdu
11oha vkSj 12oha la[;k ls 2 vkSj 3 de gSA 10oha vkSj
12oha la[;kvksa dk vkSlr Kkr djsaA

SSC CGL 10 June 2019 (Morning)

(a) 59.5

(b) 58

(c) 57.5

(d) 56

https://t.me/mathsbyadityaranjan


[ 18 ]

M
at

hs
 b
y

A
di

ty
a 

R
an

ja
n 

si
r

145. The average of 20 numbers is 65. The
average of the first 9 numbers is 68 and
the average of next 8 numbers is 62. If the
18th number is 3 more than 19th number
and 9 less than 20th number, then what is
the average of 19th and 20th number?

20 la[;kvksa dk vkSlr 65 gSA igyh 9 la[;kvksa dk
vkSlr 68 gS rFkk vxyh 8 la[;kvksa dk vkSlr 62 gSA
;fn 18oha la[;k 19oha la[;k ls 3 vf/d gS rFkk
20oha la[;k ls 9 de gS] rks 19oha vkSj 20oha la[;k
dk vkSlr Kkr djsaA

SSC CPO 13 March 2019 (Evening)

(a) 66 (b) 64.5

(c) 65 (d) 65.5

146. The average of 15 numbers is 45. The
average of the first six numbers is 42 and
that of last six numbers is 43. The seventh
number is two times the 8th number but 5
more than the 9th number. The average of
the seventh and the ninth number
is :

15 la[;kvksa dk vkSlr 45 gSA izFke Ng la[;kvksa dk
vkSlr 42 gS vkSj vafre Ng la[;kvksa dk vkSlr 43
gSA 7oha la[;k] 8oha la[;k dh nksxquh gS] ysfdu 9oha
la[;k ls 5 vf/d gS] rks 7oha vkSj 9oha la[;kvksa dk
vkSlr fdruk gS\

SSC MTS 12 August 2019 (Evening)

(a) 65.5 (b) 64

(c) 55.5 (d) 65

147. The average of 24 numbers is 56. The
average of the first 10 number is 71.7 and
that of the next 11 numbers is 42. The
next three numbers (i.e. 22nd, 23rd and 24th)

are in the ratio 
1 1 5

: :
2 3 12

. What is the

average of the 22nd and 24th numbers?

24 la[;kvksa dk vkSlr 56 gSA igyh 10 la[;kvksa dk
vkSlr 71-7 gS rFkk vxyh 11 la[;kvksa dk vkSlr 42
gSA vxyh rhu la[;k,¡ (vFkkZr 22oha] 23oha rFkk 24oha)
1 1 5

: :
2 3 12

 ds vuqikr esa gSA 22oha rFkk 24oha

la[;kvksa dk vkSlr fdruk gS\
SSC CGL 5 March 2020 (Morning)

(a) 49.5 (b) 55

(c) 55 (d) 60.5

148. The average of 12 numbers is 39. The
average of last 5 numbers is 35 and that
of the first 4 numbers is 40. If the 5th

number is 6 less than 6th number and 5
more than the 7th number, then what is the
average of 6th and 7th number?

12 la[;kvksa dk vkSlr 39 gSA vafre 5 la[;kvksa dk
vkSlr 35 gS rFkk igyh 4 la[;kvksa dk vkSlr 40 gSA
;fn ik¡poha la[;k NBh la[;k ls 6 de vkSj 7oha la[;k
ls 5 vfèkd gS] rks NBh vkSj lkroha la[;k dk vkSlr
D;k gS\

CPO-2019, 25/11/2020 (Morning)

(a) 50 (b) 39

(c) 47.5 (d) 44.5

TYPE-VII
(Miscellaneous)

149. A man goes to office with the speed of 60
km/hr by car and return as the same road
at 30 km/hr by car. Find his average
speed?

,d O;fDr 60 fdeh@?kaVs dh jÝrkj ls dkj pykdj
nÝrj igq¡prk gS vkSj fiQj mlh ekxZ ls 30 fdeh@?kaVk
dh jÝrkj ls dkj pykdj okil ykSVrk gS] rks mldh
vkSlr pky Kkr djsaA
(a) 50 km/hr

(b) 45 km/hr

(c) 40 km/hr

(d) 55 km/hr

150. A person covers 15 km at 5 km/h, 12 km
at 6 km/h and 16 km at 4 km/h. Then find
the average speed in covering the whole
distance.

,d O;fDr 15 fdeh- 5 fdeh-@?kaVs] 12 fdeh- 6 fdeh-
@?kaVs vkSj 16 fdeh-] 4 fdeh-@?kaVs dh pky ls r;
djrk gSA rks iwjs nwjh dks r; djus esa vkSlr pky Kkr
djsaA

(a)
4

7
9

 km/hr (b)
4

9
7

 km/hr

(c)
7

4
9

 km/hr (d)
7

7
9

 km/hr

151. The average marks of two classes M and N
are 25 and 40 respectively and the overall
average is 30. The ratio of the students of
classes M and N is :

nks d{kkvksa M rFkk N ds vkSlr vad Øe'k% 25 rFkk
40 gS vkSj izkIr lexz vkSlr 30 gSA d{kk M vkSj N

ds Nk=kksa dk vuqikr gS %
SSC MTS 9 August 2019 (Evening)

(a) 2 : 1

(b) 5 : 6

(c) 1 : 2

(d) 5 : 3
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152. In a class of 60 students, 40% are girls. The

average weight of the whole class is 59.2

kg and the average weight of the girls is

55 kg. What is the average weight of the

boys?

60 Nk=kksa dh ,d d{kk esa] 40» yM+fd;k¡ gSaA iwjh d{kk
dk vkSlr otu 59-2 fdyksxzke gS vkSj yM+fd;ksa dk
vkSlr otu 55 fdyksxzke gSA yM+dksa dk vkSlr otu
Kkr djsaA

SSC CGL 12 June 2019 (Morning)

(a) 63 kg

(b) 60 kg

(c) 61 kg

(d) 62 kg

153. The average of 27 numbers is zero. Out of

them, how many may be greater than zero,

at the most?

27 la[;kvksa dk vkSlr 0 gSA buesa ls vf/d ls vf/d
fdruh la[;k,¡ 'kwU; ls vf/d gks ldrh gS\

SSC CGL 13 June 2019 (Evening)

(a) 0

(b) 1.5

(c) 26

(d) 20

154. The average of 1088 real numbers is zero.

At most how may of them can be negative?

1088 okLrfod la[;kvksa dk vkSlr 'kwU; gSA muesa vf/
d ls vf/d fdruh la[;k,¡ Í.kkRed gks ldrh gS\

SSC CHSL 11 July 2019 (Morning)

(a) 100

(b) 88

(c) 544

(d) 1087

155. The average of nine 2 digit numbers is

decreased by 6 when the digits of one of

the 2 digit numbers is interchanged. Find

the difference between the digits of that

number?

2 vadksa dh 9 la[;kvksa dk vkSlr 6 ls de gks tkrk
gS tc 2 vadksa dh la[;kvksa esa ls ,d la[;k ds vad
ijLij cny tkrs gSaA ml la[;k ds vadksa ds chp varj
Kkr dhft,A

SSC CHSL 20/10/2020 (Morning)

(a) 6

(b) 4

(c) 2

(d) 8

156. The numbers 24, 45, a, 35, 59, 83, 46, b,

29, 74 are serially numbered as they

appear in the sequence. When each number

is added to its serial number, then the

average of the new numbers formed is 55.

The average of the missing numbers (a and

b) is :

Lka[;k,¡ 24, 45, a, 35, 59, 83, 46, b, 29, 74

Øfed :i ls O;ofLFkr dh xbZ gS] tSls os Øe esa
jgrh gSA tc izR;sd la[;k dks mldh Øe la[;k ls
tksM+k tkrk gS] rks u;h cuus okyh la[;kvksa dk vkSlr
55 vkrk gSA yqIr la[;kvksa (a vkSj b) dk vkSlr
fdruk gS\

SSC CHSL 13/10/2020 (Afternoon)

(a) 38

(b) 58

(c) 62

(d) 50

157. If 40 is added to a list of natural numbers,

the average is increased by 4. When 30 is

added to the new list, the average of the

number in the new list is increased by 1.

How many numbers were in the original

list?

;fn 40 dks çkÑfrd la[;kvksa dh ,d lwph esa tksM+k
tkrk gS] rks vkSlr 4 ls c<+ tkrk gSA tc ubZ lwph esa
30 dks tksM+k tkrk gS] rks ubZ lwph esa la[;kvksa dk
vkSlr 1 ls c<+ tkrk gSA ewy lwph esa fdruh la[;k,¡
Fkh\

SSC CHSL 26/10/2020 (Morning)

(a) 4

(b) 5

(c) 8

(d) 6

158. The sum of 17 consecutive numbers is 289.

The sum of another 10 consecutives

numbers, whose first term is 5 more than

the average of the first set of consecutive

numbers, is :

17 Øfed la[;kvksa dk ;ksx 289 gSA 10 nwljh Øfed
la[;kvksa dk ;ksx fdruk gksxk ftldk igyk in Øfed
la[;kvksa ds igys leqPp; ds vkSlr ls 4 vf/d gS\

SSC CHSL 14/10/2020 (Afternoon)

(a) 315

(b) 285

(c) 265

(d) 300
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159. Four different positive numbers are written

in ascending order. One-third of the

average of all the four numbers is 19 less

than the greatest of these numbers. If the

average of the first three numbers is 12,

the greatest number among the given

numbers is :

pkj vyx&vyx /ukRed la[;kvksa dks vkjksgh Øe esa
fy[kk x;k gSA lHkh pkj la[;kvksa dh vkSlr dk
,d&frgkbZ buesa ls lcls cM+h la[;k ls 19 de gSA
;fn igyh rhu la[;kvksa dk vkSlr 12 gS] rks buesa ls
lcls cM+h la[;k Kkr djsaA

SSC CGL 07/06/2019 (Evening)

(a) 25

(b) 22

(c) 24

(d) 21

160. Three numbers are such that if the average

of any two of them is added to the third

number, the sums obtained are 164, 158

and 132 respectively. What is the average

of the original three numbers?

rhu la[;k,¡ bl izdkj gSa fd ;fn buesa ls fdlh Hkh
nks la[;k ds vkSlr dks rhljh la[;k esa tksM+k tk,] rks
;ksxiQy Øe'k% 164] 158 vkSj 132 izkIr gksrs gSaA bu
rhu vkjafHkd la[;kvksa dk vkSlr Kkr djsaA

SSC CGL 07/06/2019 (Morning)

(a)
2

75
3

(b) 74

(c) 76

(d)
1

75
3

161. A person was asked to guesses his own

weight. He estimated his weight to be over

70 kg but less than 80 kg. His friend

estimated his weight to be more than 74

kg but less than 84 kg. His mother said

that his weight is less than 78 kg.

Assuming that the weight are a whole

number and that the three had correctly

guessed, then what is the average of the

possible weights?

fdlh O;fDr dh Lo;a ds otu ds ckjs esa vuqeku yxkus
ds fy, dgk x;kA mlus vuqeku yxk;k fd mldk
otu 70 fdxzk- ls vf/d ysfdu 80 fdxzk- ls de gSA
mlds nskLr us mlds otu dk vuqeku 74 fdxzk- ls
vf/d ysfdu 84 fdxzk- ls de yxk;kA mldh ekrk
us dgk fd mldk otu 78 fdxzk- ls de gSA ;g
ekurs gq, fd otu ,d iw.kk±d la[;k gS vkSj rhuksa us
lgh vuqeku yxk;k Fkk] rks laHkkfor otuksa dk vkSlr
fdruk gS\
(a) 76.5 kg

(b) 76 kg

(c) 77 kg

(d) 75 kg

162. An art exhibition was held in the month

of november. The numbers of visitors on

weekdays and on weekends were 450 and

750 respectively. If the first day of the

month was Monday, then what was the

average number of visitors in the month?

uoEcj ekg esa ,d dyk izn'kZuh vk;ksftr dh xbZA
lIrkg ds dk;Zfnolks a (ohd Mst) vkSj lIrkgkar
(oha&,aM) ij vkus okys vkxarqdksa dh vkSlr la[;k
Øe'k% 450 vkSj 750 FkhA ;fn ekg dk igyk fnu
lkseokj Fkk] rks ekg esa vkxarqdksa dh vkSlr la[;k fdruh
Fkh\

SSC MTS 16 August 2019 (Evening)

(a) 520

(b) 530

(c) 510

(d) 540

163. A library has an average of 265 visitors on

Sundays and 130 visitors on other days.

The average number of visitors per day in

a month of 30 days beginning with a

Monday is :

,d iqLrdky; esa jfookj dks vkSlru 265 vkSj vU;
fnuksa esa 130 vkxarqd vkrs gSaA lkseokj ls 'kq: gksus
okys 30 fnuksa ds ,d eghus esa izfr fnu vkxarqdksa dh
vkSlr la[;k gS %

SSC CHSL 19/10/2020 (Evening)

(a) 148

(b) 135

(c) 165

(d) 129
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41.(d) 42.(d) 43.(a) 44.(c) 45.(b) 46.(c) 47.(d) 48.(a) 49.(b) 50.(d)

51.(b) 52.(b) 53.(c) 54.(b) 55.(b) 56.(a) 57.(b) 58.(b) 59.(b) 60.(b)

61.(a) 62.(a) 63.(a) 64.(b) 65.(c) 66.(a) 67.(a) 68.(b) 69.(b) 70.(a)

71.(b) 72.(a) 73.(b) 74.(c) 75.(a) 76.(a) 77.(c) 78.(a) 79.(b) 80.(d)

81.(c) 82.(a) 83.(c) 84.(b) 85.(b) 86.(a) 87.(d) 88.(c) 89.(a) 90.(a)

91.(b) 92.(d) 93.(a) 94.(a) 95.(a) 96.(d) 97.(b) 98.(d) 99.(d) 100.(d)

101.(b) 102.(d) 103.(c) 104.(c) 105.(b) 106.(a) 107.(a) 108.(b) 109.(c) 110.(c)

111.(a) 112.(a) 113.(c) 114.(c) 115.(b) 116.(a) 117.(b) 118.(b) 119.(a) 120.(c)

121.(b) 122.(a) 123.(d) 124.(d) 125.(a) 126.(a) 127.(d) 128.(c) 129.(b) 130.(c)

131.(d) 132.(c) 133.(a) 134.(a) 135.(b) 136.(a) 137.(c) 138.(d) 139.(c) 140.(b)

141.(b) 142.(b) 143.(b) 144.(a) 145.(c) 146.(a) 147.(d) 148.(d) 149.(c) 150.(c)

151.(a) 152.(d) 153.(c) 154.(d) 155.(a) 156.(d) 157.(a) 158.(c) 159.(c) 160.(a)

161.(b) 162.(b) 163.(a)

Answer Key
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